EARAROBREBRT —5 XN—ZXBISH—F

202268158 (K) 7OEH1H

MR C1 I5F4EE

\(9&1&1 n ‘I%EH?’JFQ] | & 100 =

[AE%] 17%:1,100,000 § ~ 237&:440,000 @  37&:275,000 9  435:165,000 @ .~ 5 3&:110,000 M

B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o TR :32. -6-7- . - | (FakR)
1 4 Favo4()LR 4 4 o 1(3_2)1 6-6-7-5 | 39.4 1 412)6 ity
R:TAIVRD VS — #:F5avY TFAFH5
5 . — HHAE 132, -2-2- . - FARTE (EH)
2| 5] 5 | RATSZ K 44 . 7= 1(13/22)2 2-2-2-2 | 39.9 5 :1:29) e
RiIvIIRry s BEIVYYITUT BR&EME KEXT—TI
— — < SNEF 132, -3-4- . - AR (FR)
311 |FUnFvEY 44 =4 1(322)5 3-3-4-3 | 40.0 2 (4_82(; o
A:Dawn Approach &:XE—JY I hU— Godolphin
AUEE : -9-9- - Arifg (EH)
4 V| PALTUTAT— 5 o 1.(312).7 9-9-9-7 |39.6 6 (4_6‘;8) .
R:ISYTURR B:Y—ZFRAR—)L EELYe
f 5 | BEE= 1:32.8 1-1-1-1 [ 40.6| - 7 M6 | LEFZ (BH)
5/8/10 hF/ER 54.0 a2 o) | EHEE
RIYZIRI—ZZRI— B:ISVET/ BRI —L
s 4 | EE 1:32.9 8-8-8-9 |40.0| — 4 464 | EMEZ (BH)
6l 6| LI LTF—R 56.0 L) 1) | iREEES
RiXAYavR—5— B:RURI—R RIVEVERRIS
= 4 5 | BHPFE 1:33.2 4-4-3-4 | 40.7| - 8 486 | WHEE (EH)
7(2|7|*7 4T3 54.0 (1172 oy | R
RiRSVEVR B:XFqF—v3av URLIIW—T7—L
—n v~ P REZEN : -5-6- - =Bz (BEM)
8 3| FW=YY Y 7 s 1(.33/34.)3 5-5-6-7 | 40.7 9 ?+53(; !J\E%ic
RVYRUIURIR B:IvRARIa—A #HEI77—LA
3 w4 | JIRE— 1:34.6 7-7-5-6 | 41.9| — 3 482 | HERE (BB
9(8|9|F3VY 5.0 ® o) | FEEA
KR:O—RAHF0O7 B:L—YSAKTVZR /=Y ITr—1L
)7 s 7 | AEE 1:36.3 10-10-10-10| 42.7 | — 10 475 | EEFIER (EH)
10/7| 8 | TAAAFT %55.0 (544) an |18 FoWPNRR MEE
RiFVITARNXN B:IZ—RAYA) #HBI7—LA
@ 11— —BERIEI
10—7+— 10,5,1,7,3,4,9,6,2,8
20— — 10,5,1,7,3,4,9,6,2,8
3J0—73— 10,5,7,1,9,3,4,6,2,8
40—F— 10,5,1,7,4,9, (2,3) ,6,8
0 ILRE
BB 4 210 JA R 4-5 3804 & 4-5 1,170 3ER 1-4-5 1,300/
B B 4 110 1-4 2604 5 & 4-5 1,150 3Es 4-5-1 5,460
5 1909 1-5 770 oS- 1 4-5 1,630
1 180M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




